GMAT Geometry Practice Paper 3

Question 1

In the figure above, what is
the value of z?

x=y=1

w=2

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

EACH statement ALONE is sufficient.

5. Statements (1) and (2) TOGETHER are NOT sufficient.

W=D

s

Question 2



Find the angle made by f(x) and the z-axis.
1) £() goes through the origin and the point (4,4).

) f(x) makes & 45 degree angle between itself and the y-axis.

Possible Answers:

Statement II is sufficient to answer the question, but statement I is not sufficient to answer the gquestion.
Meither statement is sufficient to answer the question. More information is needed.

Statement I is sufficient to answer the question, but statement II iz not sufficient to answer the guestion.
Either statement 15 sufficient to answer the question,

Both statements are nesded to answer the question,

Question 3



Mote: You may assume that £ and w are not parallel Enes, but you may mot sssume that [ and m are paralled lines unbess it is spacificalhy
stated

Refar to the abave diagram. |s the sum of the messuras of & A TN and /T lass than, sgusl o, or mreater than |H.l}u':‘
Statement 1 ms 1 + ms6 = 1817
Statement Z: ms T + mA12 = 1797

Passible dnswers:

Statement 2 ALOME iz sufficient to snswer the question, but Statement 1 ALOME is MOT suffici ant o snseser the question.

BOTH statemenis TOGETHER sre sufficisnt to answer the guestion, but MEITHER statement ALONE i sufficient to answer the pusstion
Statement 1 ALOME is sufficient to snewer the question, but Statement 2 ALONE is MOT sufficiant 1o snseser the question.

BCOTH statemenis TOGETHER are msufficient to ansvesr the questicn.

EITHER statement ALOME is sufficient to answer the guestion.

Question 4



Mote: Figure MOT drawn to scale.

Refer to the above diagram. What is the measure of 17
Statement 1:m./1 — 30° + 2. mS2
Statement 2: /3 isa 130° angle.

Possible Answers:

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.
Statement 1 ALONE is sufficient to answer the question, but Statement 2 ALOMNE is MOT sufficient to answer the question.

EITHER statement ALOMNE is sufficient to answer the question

Question 5



#1and /2 are supplementary angles. Which one has the greater measure?
Statement 1: m.S1 < 100

Statement 2: 2 is an obtuse angle.

Possible Answers:

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the guestion.
EITHER statement ALOMNE is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

Question 6



Mote: Figure MOT drawn to scale.

Refer to the above diagram.
What is the measure of S FCB 7
Statement 1: m./ FBC — 43°
Statement 2: m.S DCG — 437

Possible Answers:

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to znswer the question.
EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the guestion.

Statement 1 ALONE is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the guestion.

BOTH statements TOGETHER are insufficient to answer the question.

Question 7



What is the measure of /17
Statement 1: 1 is complementary to an angle that measures 48°.

Statement 2: /1 is adjacent to an angle that measures 42°.

Possible Answers:

BOTH statements TOGETHER are sufficient to answer the question, but NEITHER statement ALOME is sufficient to answer the guestion.
Statement 1 ALONE is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALONE is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

Question 8

A, B and ' aredistinct points.

— —3
True or false: AR and AC are the same ray.

Statement 1: A, B, and O are collinear.

Statement 2: AR + BC — AC.

Possible Answers:

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOMNE is sufficient to answer the question.
Statement 1 ALOMNE is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.
Statement 2 ALOMNE is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Question 9



A, B and ' are distinct points.

— —3
True or false: AR and AC are the same ray.
Statement 1: ABR | BC = AC
Statement2: AR | AC = BC.

Possible &nswers:

Statement 2 ALOME is sufficient to answer the question, but Statement 1. ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.
EITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

Question 10

A, B and ' aredistinct points.

— —
True or false: AR and AC are the same ray.

Statement 1: AR — 2. AC,

Statement Z: ' is the midpoint of A 1.

Possible Answiers:

BOTH statements TOGETHER are insuffident to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but NEITHER statement ALOME is sufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

Question 11



A, B, and C aredistinct points.

True or false: .IB} and ..i_f} are opposite rays.
Statement1: AR | BC = AC
Statement2: AR | AC = BC

Possible Answers:

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statement ALOME is sufficient to answer the guestion.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Question 12

A, B and O are distinct points.

— —3
True or false: AR and AC are opposite rays.
Statement1: AC — 2. AB.

Statement 2: | is the midpoint of AC.

Possible Answers:

EITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statement ALOME is sufficient to answer the question.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALONE is MOT sufficient to answer the question.
Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the guestion.

BOTH statements TOGETHER are insufficient to answer the guestion.

Question 13



A, B and ' aredistinct points.
— —
Trus or false: AR and AC are opposite rays.
—
Statement 1: Bison AC
—
Statement 2: C ison AR

Possible Answers:

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOMNE is MOT sufficient to answer the question.
EITHER statement ALOMNE is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOMNE is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the guestion.

Question 14



Mote: Figure MOT drawn to scale.

Evaluate AFE.
Statement 1: A — 24
Statement 2: BE — 24

Possible Answers:

EITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but NEITHER statement ALOME is sufficient to answer the guestion.

Question 15



The equations of two lines are:
4z | Sy — 20

Az 8y — B

Are these lines perpendicular?
Statement 1: 4 — 4

Statement 2: B 20

Possible &nswers:

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the guestion.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is not sufficient to answer the guestion.

EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is not sufficient to answer the guestion.

BOTH statements TOGETHER are insufficient to answer the question.

Question 16



\\,\h

"

Refer to the above figure. Trueor false:m | n
Statement 1: AXAY =~ AXBY
Statement 2: Line n bisects ~AX B,

Possible Answers:

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the guestion.
EITHER statement ALOME is sufficient to answer the question.

BCTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

Question 17



Refer to the above figure.
Trueor false:m | ¢
Statement 1: m.2 — 80°
Statement 2: /3 = /6

Possible Answers:

BOTH statements TOGETHER are insufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the guestion.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.
EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the guestion.

Question 18



(< +9)°

Statement 1:

Refer to the above figure. Are the lines perpendicular?
Statementl:xz — 9

Statement2:x —y + 1

Possible Answers:

EITHER statement ALOMNE is sufficient to answer the question

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.
Statement 2 ALONE is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

Statement 1 ALONE is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Question 19



Refertothe above figure. True or falset m | n
Statement 1: M A X B is equilateral.
Statement 2: Line n bisects < AXB.

Possible Answers:

BCTH statements TOGETHER are insufficient to answer the question.

Statement 1 ALOME is sufficient to answer the guestion, but Statement 2 ALOME is MOT sufficient to answer the question.
Statement 2 ALOME is sufficient to answer the guestion, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Question 20



Is Line A perpendicular to the following line?

! 3
u Zzl

Statement 1: The slope of Line Als 3.
Statement 2: Line A passes through the point (2,3).

Possible Answers:

Statement 1 alone is sufficient, but Statement 2 alone is not sufficient to answer the guestion.

Statement 2 alone is sufficient, but Statement 1 alone is not sufficient to answer the guestion.

Each statement alone is sufficient.

Both statements taken together are sufficient to answer the question, but neither statement alone is sufficient.

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the question.



